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20208 = 20l A LBt H nEsA D
BN DEHH
My DESANM
H: HESUEAEXH (2 &HH)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
nESA N 28,597,140 28,101,686 495,454
= 183,936
g 350,000
Jl 59,200
= 1,269,506
Al 26,734,498
WEEHMNH 26,560,325 26,245,006 315,319
= 183,936
g 350,000
J| 59,200
& 1,269,506
Al 24,697,683
[NESIME=YNESPDNC 26,560,325 25,991,806 568,519
= 183,936
g 350,000
Dl 59,200
= 1,269,506
Al 24,697,683
AMUHHABSH XS 2,585,000 2,585,000 0
307 2I2t0| ™ 2,585,000 2,585,000 0
09 2L AHEBE X2 2,585,000 2,585,000 0
ODSIIERQ ¥ 228z 2H
2,425,000,000& * 1Al 2,425,000
ORSINCH U SRASBH(DUA22L)
160,000, 000 1Al 160,000
HATNE X &2 3,163,076 4,006,806 A 843,730
=} 1,162,538
Al 2,000,538
203 €2 F=&d| 3,000 0 3,000
03 Al ZHF=XH R = XH| 3,000 0 3,000
OUZENE ¢ NESINM BH3 22EX
3,000,000 =14l 3,000
307 QI2t0| ™ 3,160,076 4,006,806 A 846,730
& 1,162,538
Al 1,997,538
09 2LHHEXS 3,160,076 4,006,806 A 846,730
OHA 8t HHEXK(HEULA)
2,325,076,000 1Al 2,325,076
=} 1,162,538
Al 1,162,538
OHA 2223 AKX (aBHD])
511,000,000 = 1Al 511,000
OAMUHA DEIIE 2H =2 X
25,000,000 x12& 300,000
OEAMXNE HARE 29H| K&
12,000,000 =2CH 24,000
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Cel: HEsnsSAEXH (&)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
oSt 2E 1,238,921 1,005,000 233,921
J| 59,200
Al 1,179,721
307 gl2tol & 1,194,921 960,000 234,921
J| 59,200
Al 1,135,721
05 BIZHRI & 3 1,194,921 960,000 234,921
OFHe 22Xz 2LHl Ex=(1601)
1,086,320,300& 14 1,086,321
J| 59,200
Al 1,027,121
O XAl 2LHl 2 =(30H)
36,200,000 =3CH 108,600
405 XHoHF S HI 44,000 45,000 A 1,000
01 AL ESFH S 44,000 45,000 A 1,000
OXZOHel Xtz 2 (10H) 44,000,000 «1CH 44,000
FEAN s EXS 18,000,000 18,000, 000 0
307 glz2tol & 18,000,000 18,000, 000 0
09 2+HAHEEXS 18,000,000 18,000, 000 0
SEH HESEXS(HALSE HA)
18,000,000, 000& * 14! 18,000,000
Al 2HEB2AAAE A5 19,340 0 19,340
308 A EHSOIA 19,340 0 19,340
1037/ 2S0HUHeBHEAEALS I 19,340 0 19,340
OHAI2HFIS 2 AAE 2|
19,339,490& 14 19,340
SSEEA 2¢ 120,000 100,000 20,000
s 50,000
< 15,000
Al 55,000
201 Let249] 5,000 5,000 0
01 At 22l 5,000 5,000 0
O SSEEA 298 01833 MH
250& +5,00001 *42 J| 5,000
307 21201 A 115,000 95,000 20,000
s 50,000
< 15,000
Al 50,000
09 2HAHAEXS 115,000 95,000 20,000
O S3EEA 2IX& 5,000& %23, 00004 115,000
as 50,000
< 15,000
Al 50,000
SSEHAXS 600,000 0 600,000




nSHI Y
DSHAMM
HsSusSAEXH (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
e 300,000
Al 300,000
307 glz2tol & 600,000 600,000
s 300,000
Al 300,000
09 2HAHAEXS 600,000 600,000
OZANERS2Y(S2EHA) UMY
600,000,000 =14l 600,000
as 300,000
Al 300,000
IHHASX 2SS HEXA 20,000 20,000
207 A& H| 20,000 20,000
01 A ESHI 20,000 20,000
OAUHA 2 L 3HBS S
20,000,000& =14 20,000
N2=3AL &2H 29 30,800 30,800
201 Let24d] 7,800 7,800
01 At 22/l 4,200 4,200
OHAN2F=ZAA 28 235 74Ul
100,000 1200 & 1,200
OHYAl dH SMEEZ 100,000& 1200 & 1,200
OHAI2=S AR &8 ReBHR=S
150,000 1200 & 1,800
02 =224l 3,600 3,600
OHAN2BMA & 29 2323
300,000& 1271 & 3,600
401 Al& Bl 28I 12,000 12,000
01 A& HI 12,000 12,000
OHA2=Z AR &8 =&l
12,000, 000& 14! 12,000
405 RHoHE S HI 11,000 11,000
01 XL 2 ZFH S| 11,000 11,000
EBAl2=3AMX EH 28 72
11,000, 000& 14! 11,000
Al 2HS SEEHE WAL 79,316 79,316
402 2I2H X201 M 79,316 79,316
01 2IZF 2 A B (KM ) 79,316 79,316
OZLHEAl HHE SEZEHE S XA
52,2503 «1,5180H 79,316
A T BXAY 703,872 703,872
= 183,936
< 91,968
Al 427,968




2A NS
M DsEFd
e HESWsSANEXE (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 703,872 0 703,872
= 183,936
< 91,968
Al 427,968
09 2HAHAEXS 703,872 0 703,872
OMAHA T BEXAY 91,968,000 »4CH 367,872
= 183,936
= 91,968
Al 91,968
OM&AHA 2dH XI&
1,000, 000& «28CH x12& 336,000
HREsS(WsSsHH ) 2,033,035 1,852,900 180, 135
HWEAHAXE(LEHE ) 2,033,035 1,852,900 180, 135
DEMAEEIA B 2,033,035 1,852,900 180, 135
701 JIEtsl HSHES 2,033,035 1,852,900 180, 135
01 JIEtSI HEES 2,033,035 1,852,900 180, 135
OusSAMLSEZA X M SAXNEE &
= (10%) 944,795,000 » 14! 944,795
OLSAY SE3H XN d&53
1,088,240,000& 14 1,088,240
HE2IAZH (nSEHAD) 3,780 3,780 0
Jleddl(nsadd ) 3,780 3,780 0
Jl2Zdbl(nsd ™) 3,780 3,780 0
203 YR =] 3,780 3,780 0
04 BENSSHRF=LHI 3,780 3,780 0
ONEHHUR N2 T H|
350,000& = 12& x90% 3,780




